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i Fik = j(3)2x = 3j

1

B 3I(t 1 t+1)dt=

2In—
2

1

3" -2
= In
2(In3—-1In2)

3" +2°

1

2(In3—1In2)

+ C.

r—1
In—
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1
B2 ?kje *( +s1nx)dx.
1+cosx
ex(1+Zsin£cos£)
B 22 g
2082 >

=I( © +extan§)dx

x d Y de”
—I[(e d(tan2)+tan2de |

= Id(e"‘ tanf) = e* tan—+C.
2 2
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1§|J3 ;kj‘\/lll(x+\/1+x2)+5dx.
J1+ x°
fig o [In(x+V1+x*)+5]

3 1 1+ 2x ) = 1
x+1+ x? 21+ x27 1+ x2

Jﬁiﬁﬂ'\/ln(x+\/1+x2)+5-d[ln(x+\/1+x2)+5]
= ;[ln(x+\/1+x2)+5]; +C.
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B4 ;kj' x+1 do.
xzx/xz—l
1
ﬁg %x=t, (@Jﬁﬁ)
—+1
1+¢
JRFC = — dr
I\/()—l I /l_tz
= j\/ﬁ+_“d(1 r) — —aresint +V1—¢2 +C
Jxt -1 1
= —arcsin— + C.
X X
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1+e% +e3 +ef

B et =1, x=6In¢, dx =—dzt,

t
6ds
k= | Par = | 2
1+’ ++t ¢ t(+1)(1+17)
- 6 A B Ct+D

+ 4+
t(A++t>) ¢t t+1 1+¢
6=A0+ )1 +t*)+ Bt(1+¢*)+(Ct+ D)t(t +1)



ff18% 4=6, B=-3, C=-3, D=-3.

6 3 3t+3

JR=l = —
I(t 1+¢ 1++¢

)dz
= 6lnt—3ln(1+t)—;ln(1+t2)—3arctant+C

x 3 x x
= x—31n(1+e6)—51n(1+e3)—3arctane6 +C.
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" JE
Bile K _" xarctan x In(1+ x*)dx.

fi# '.'jxln(1+x2)dx =%J‘ln(l+x2)d(l+x2)

1 1
=2(1+x2)ln(1+x2)—2x2 +C.

| 1 1
JE = jarctan x| (1+ x)In(1 + x%) — Exz]

1
= i[(‘1+ x*)In(1+ x*)— x*]arctan x
1 > x’
-Ej[ln(1+x ) -l
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= ;[(‘1 +x*)In(1+ x*) — x*]arctan x
1 3x’
—— [xIn(1+ x*)— dx
2[ ( ) jl+x2 |

1

= 5[(‘1+x2)ln(1+x2)—x2 —3]arctan x

—fln(1+x2)+3x+C.
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517 jz_[ d .
Y(x+1)(x-1)*
R U+ (x=1) —s( ) (x+1)%
%t=x—_19 dr = 2 \
x+1 (x+1)*
4
)Eit= dx =l-"t_3dt
i/(x‘l)“ (xt1)?
x+1
3=
v
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w8 2%J'x+sinxdx.

1+cosx
X X
X+ 2sin—cos —
iR Eﬁ:j Zx 2 4x
2¢cos’ =
d 2
X X
= +Itan—dx
2 X 2
2C08" —
2

=xtan£—jtan£dx+j‘tan£dx
2 2 2

X
= xtan— + C.
2
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f(¥) fP)-fx)f (x)
f(x) S (x)
j'f(X) f(x)

f(x) f (X)

I[f(X)
2 f'(x)

Jdx

dx
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10 >k [ max{l,| x|}dx.
& X f(x)=max{l,x},

—x, x<-1

nm f(x)=4 1,-1<x<1,

x, x>1

f () E(—o0,400) FIELE, VAFIEIF AL F(x).
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" JE

4 1 ,

-—x +C, x<-1
2

F(x)=4 x+C(C,, -1<x<1.

1
x*+C,, x>1

\

lim (x+C,)= hm(——x +C)RI-1+C, ——;+Cl,

x——1" x——1

llm( x’ +C)—11m(x+C) EU;+C3=1+C2,

x—>1"
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A C,=-+C, C,=1+C.

2

r

e I max{1,|x[}dx =
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1
——x'+C, x<-1
2
1
x+E+C, —1<x<1.

%x2+1+C, x>1
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.\ IEEn
—.  EEHE (20 5):
1. ®F,(x), F(x)RXIEIRNZELZRE f(x)BHEDA R
JREREH f(x)=0, WEXEINLE )
(A) F,(x)+ F,(x)=C; (B) F,(x)-F,(x)=C;
(C) F,(x)=CF,(x); (D) F,(x)-F,(x)=C.
2. %F’(x)=f(x),ﬁll]j dF(x)= )
(A) f(x); (B) F(x); (C) f(x)+C; (D) F(x)+C.
3. f()EEXERRETHME ( O, ARIEERIER
B — EFHE
Q) BRI (B) #EL; (OFH; (D) FHERAEIMA.
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4. FTHIGRIEFRIR ( )

(A VIFERBDFAE R R

(B) BN A LR VISR
(C) ¥ISFR B IR R HUb E R F R

(D) A,B,CHEARX.

5. BE f(x)=(x+x)B—NMERHEF(x)=( )

) 2, (B) 2|3

3 3

2 2 2 2 2
(C)gx(x +|x); (D) 3 ¥ (x+|x]) .
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6. BH— MNRBHFREN)Y =2x, Hx=1K y=2,

XANEERE ()
(D) y=x*+C; (B) y=x*+1;
(C) y=2x"+C; (D) y=x+1.

7. AR REHAIEFRECRERR ¢ )

lnx

() e ax <B>Im (C)Ilnx 5

3. Jf(x=F()+C, g gpp g rode= ¢
(A) F(x)+C; (B) F@®)+C;

(C) 1F(at+b)+C; (D) F(at+b)+C .
a
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9. jlnxdx=( )

x2
(A) 1lnx+1+C; (B) —1lnx+1+C;
X X X X
(C) 1lnx—1+C; (D) —1lnx—1+C.
X X X X

0. [ o=
- axr®

1 1 9+C'; (B) 1 1 9+ 3
9(dx+1) 36 (4x+1)
1 1 1 1
(©) - +C; (D) - 4 C.
36 (4x+1) 36 (4x+1)
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—. RTFIAERS (40 7):

1 1
1. J‘?cos;dx,

2

X
3. dx ;
j(1+x2)2 o

x+1
o o™

7. j x* arccos xdx :
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d.
2. :
Ix2+2x+5

4_[ dx _
. 1+V1—x2'

dx
6. ;
j e*(1+e™)

lldx
8.
Ix +3x4+2
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(xIn(1+x%),x>0

=, (209 & f(x)=+ ’
L(x2 +2x—-3)e ",x<0

ERJ‘f(x)dx.

PU. (2043) &4 x# 08, f'(x)%&EZE, K

[FO=00f (),

2
xe*
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AR S
—. 1. D; 2. D; 3. B; 4. D; 5. D;
7. D 9. D

6. B; . 8. B; : 10. C.
1 1 1
v 1. —sin—+C; 2. —arctanx+ +C;
X 2
1 1
3. —arctanx— — * 2+C;
2 1+x
1 1-x?
4, ——+ . + arcsin x+ C;
X X
[ .2
5 % _l—arcsin1+C; 6. —¢  —arctane” +C
X X
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1 1
7. gx arccosx+9(1 X )2——\/1 x'+C;

4
8. xj+iln(l+x4)—ln(x4+2)+c.
=, jf(x)dx=
rl 2 2 1 2 2
<Ex In(1+ x )—E[x —In(1+x7)]+C, x=0
L —(x*+4x+1De " +1+C, x<0°
X
f),

1.

xe”*
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